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A RR A USIAIES 18,360
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11 JIEIE A= 95,421 81,988 13,433
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01 AR 2t2l ] 19,500 19,500 0]
Ogst=2H| 14,500
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& 26,996,086
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= 1,502,798
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207 O] 260,000 0 260,000
01 289 260,000 0 260,000
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O2ANEDEXTHUENS ALY 100,000
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= 62,400
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402 RI2EX 20| ™ 1,098,000 2,000,000 902,000

01 U2 2AILE X (XA ) 1,098,000 2,000,000 A902,000
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NUELSHEHASSAILXR 8,581,000 8,249,250 331,750

308 XX EH SOl A 7,826,000 7,233,000 593,000
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403 XSS A0l & 755,000 1,016,250 A 261,250
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OsHESSEHARLXZ 165,000
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WEsAN0IsHASEXZ 247,500 290,000 A 42,500
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OMAHA2SH XA 247,500

SSEEAKXN R A 500,000 0 500,000
Xl 500,000

308 XXM SO A 500,000 0 500,000
Xl 500,000

01 XML EES 500,000 0 500,000
OSSEEAXZAS (XISEHI) 500,000
X 500,000

SEENESIEAMZ 650,000 0 650,000
Xl 650,000
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